Vocabulary Ninja
SATs Arithmetic 2

Date

First Name

Middle Name

Last Name

Date of Birth

Total Marks:

(f —

[
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99 + 401 =

1 mark

1,341 + 341 =

1 mark

B3+ V3 =

1 mark
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649 + 0 =

1 mark

370 -81 =

1 mark

7.4 +0.35 =

1 mark
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= 3,500 + 950

1 mark

4 x 36 =

1 mark

72 -8 =

1 mark
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194 x5 =

10

4,627 -1,119 =
11

D2 + 923 =
12
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- 300 = 1,569

13
26+ (4x9) =

14
2% X 78 =

15

1 mark
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16 120 x 50 =

1 mark

20 x 4,000 =

1 mark

7,686 =6 =
18

1 mark
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0.04 +10 =

19
1 mark
7.32 x 100 =
1 mark
21 2 613 5 1 0
Show
your
method
2 mark
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9-3.07=

2
1 mark
33 1 4 1 6
X 2 3
2 mark
22% X 600 =
24
1 mark
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90% of 670 =

RS
1 mark
26 2 4 8
X 4 5
2 mark
27.1-12.901 =
Q7
1 mark
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2 24 —
T 7

1 marks

2 . -
20 23 = 6=

1 mark

18% of 500 =
30

1 mark
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Y/
o 75 %

1 mark
32 1 4 2 8 5 6
2 marks
15+ %
1 mark
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0.9 x 600 =

34
1 mark
2 Y2 x 22 =
35
1 mark
S .
sg /6+3=

1 mark
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Arithmetic 8 Answers

500

1,682

732

1 0r3/3

135 (2)

0

5.93

289

32,568 (2)

7.75

132

4,450

603

144

11,160 (2)

9

14.199

970

1Y

3,508

%18 or Yy

12

90

1,869

Vs

62

204 (2)

14/40 OF /29

1 11/30

6,000

540

80,000

13

1281

Y8

0.004
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